&

LEZ BHERE (2641 F)
& =]
/- C -
£ -
=T -
Efe 20 kg
YSELEE | —FSMk
~ e BHERE (2611 F)
=T -
%‘ —
BX 20 kg
BERREIEA—FSA+
LES BELH (2442 F)
=T -
3w -
= _
|ES 20 kg
YL EE | —FSAk
% |BEE(26127F)
& =<
=T -
o < — -
=T -
g 20 kg
YR EIE FICEL




HEE - |mE  |BEEEQ26/VF)
Wz 11- " ‘i & )biIN—
= =T -
b & -
= _
Efe 20 kg
FRLEIE |HFICGL
ﬁiﬁ%_ LEZ BHELH (2442 F)
£ | =T -
J:: —
[ <o _I%_ _
L E& 20 kg
YFECEIE (45 (2L
e BHELH (26142 F)
& #
=T -
b= -
&= |
B 20 kg
 ’ |t EE A —rS A
g HERE (261 F)
e =
3 7=C -
dxc _
= _
CE 20 kg
HBHEEIE |45/
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HEsE (2614 F)
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20 kg
F—t51h
HELE (26142 F)
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20 kg
F—rSAh
BELHE (2742 F)
/=) 2
WA = -
.=. Lz -
S EEEE
L B [20ke
WEREE|A—FSM+
e BEHE (2740 F)
& T
=T -
K -
_Iél_ —
Efe 20 kg
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= -
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=T -
& —
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e |7=T -
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XS 6 kg
YSECEIE | HICEL
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= 2T |-
Q E 25 cm
=& [150 om
XS 3 kg
YFE0RIE | FICAL
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]

9‘/7
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A
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=T -
X 33 cm
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~ECIREL
HFECEIE (FFI2aL
G T
& D )biN—
=T -
K -
_Iél_ -
R 1 kg
YFRCEIE (FFITAL
g2 W+
el 2 )LIN—
=T -
K -
BE |-
R 1 kg
R0 IE | HICAL
g UL
e =
=T 40 cm
&xo 85 cm
/ = 75 cm
BS 8 kg

e

BZEL




g2 T—7)
=) =]
=T 65 cm
| &kC 110 cm
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[EXS 31 kg
KECBIE [TV =# R
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=
=T 55 cm
& 110 cm
= 75 cm
B 29 kg
FEEEIE VAR
me  |T—IL
=) =
=T 80 cm
- K 130 cm
B 70 cm
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tEsnETE Z—?‘Mi%ﬂ%ﬁ:f:o AR X4
mB [PV R
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=T 45 cm
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=) 70 cm
ey 39 kg

e ]
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45 cm
K 88 cm
= 146 cm
S 51 ke
YFE0RIE | BICAL
I:II:I% !F%A
é &
L 30 cm
J:; 14 cm
M / ErS 178 cm
RELS 10 kg
o FFRC B IE HFIAL
g2 B
=) =]
=T 45 cm
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O ERER
FFECEIE (FFI2AL
g AR
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=T 55 cm
X 135 cm
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32 cm
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160 cm

33 kg
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65 cm
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21 kg
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40 cm

40 cm

135 cm

32 kg
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40 cm

80 cm
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27 kg
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50 cm

60 cm

105 cm

16 kg
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10 kg
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35 cm
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30 kg
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A
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65 cm

85 cm

20 kg
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55 cm
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14 kg
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35 cm
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12 kg
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B 12 kg

FRECEIE | Rl
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55 cm
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29 kg
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24 kg
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B 20 kg
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7 kg
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